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A company's after tax specific cost of capital are as follows: 16
CostofDebt 10%

Cost of Preference Shares 12%

Cost of Equity Shares 15%

The following is the capital structure :

Source , Amount (I )

Debt 3,00,000

Preference Share Capital 2,00,000

Equity Share Capital 5,00,000

10,00,000
Calculate the weighted average cost of capital, K.
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Paper-III

[Maximum marks : 00

Note :- Attempt five questions in all, selecting at least one question

but not more than two questions from each unit. All
questions carry equal marks.
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Unit-1 (3-1)

1. What is Management Accounting? Explain its functions and
scope. 16
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2. What is funds flow statement? Explain its objectives and
importance. 16
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3.  From the following details prepare the balance sheet of X Ltd: 16
Stock Turnover Ratio ' 6
Capital Tumover Ratio 2
Fixed Assets Turnover Ratio 4
Gross Profit , 20%

Debit Collection Period 2 Months
Credit Payment Period 73 Days
m {Tumover
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The gross profit was T 60,000, closing stock was ¥ 5,000 in
excess of the opening stock.
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' Unit-II (g-11)

A Ltd. company is considering investment in a project requiring
acapital outlay of ¥ 2,00,000. Forecast for annual income after

depreciation but before tax is as follows: 16
- Year I
1 1,00,000
2 1,00,000
3 80,000
4 80,000
3 40,000
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Depreciation may be taken as 20% on original cost and taxation
at 50% of net income. Evaluate the project according to (a)
payback method, (b) rate of return on average investment, (c)
Discounted cash flow method taking cost of capital as 10%, and
(d) Profitability index method. Discount factors at 10% are 0.909,

0.826, 0.751, 0.638 and0621 for the years 1,2, 3,4 and 5

respectively. .
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I 1,00,000
2 ‘ 1,00,000
3 80,000
4 80,000
§ 40,000
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What is financial planning? Explain its importance and
limitations. 16
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Define finance function. Explain the different approaches of

finance function. 16
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Unit-111 (FE-110)

Explain the Net Income approach of capital structure. 16
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Explain in detail M.M. Dividend Model. 16
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Explain the factor affecting the need of working capital. 16
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